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; 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 |1 000 ~ 4.70 58.61 | Ths | 0oo ~ 000\ 1.64 8.27 ZznLst 1.00 | 5.00 ~ 5.00 5861 | =LA | 5,00 ~ 500 1.64 8.27
2 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 |1 0.00 ~ 491 61.22 | LS | 000 ~ 000 1.69 8.65 znLst 1.00 | 5.00 ~ 5.20 61.22 | =hS | 6,00 ~ 5.20 | 1.69 8.65
P 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 |1 0.00 ~ 4.90 61.11 | #hLs | 000 ~ 000)]1.78 8.97 znLst 1.00 | 6.00 ~ 5.20 61.11 | #hdst | 6,00 ~ 520|178 8.97
4 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 1 0.00 ~ b5.34 66.61 | TN | 000 ~ 000|171 8.63 znLst 1.00 | 5.00 ~ 5.80 66.61 | ThS | 65,00 ~ 580|171 8.63
5 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 1 0.00 ~ 6.556 82.66 | N4 | 000 ~ 0.00| 1.63 8.22 znLst 1.00 | 5.00 ~ 8.20 82.66 | =nLS | 5,00 ~ 820 1.63 8.22
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%# %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 | 0.00 ~ 6.03 75.51 | =LY | 000 ~ 603 1.89 9.65 ZznLst 1.00 | 5.00 ~ 7.20 76.61 | EnRSY | 6,00 ~ 720|189 9.565
7 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/MiZ#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 000 ~ b5.14 64.07 | =LY | 000 ~ 514 1.82 921 znLst 1.00 | 5.00 ~ 5.60 64.07 | =hS | .00 ~ 5.60 | 1.82 921
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh s ~ ZnLst ~ Zh s ~ ZnList ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
Zh s ~ ZnLst ~ Zh s ~ ZnList ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
Zh LS ~ ZhnLst ~ ZhLs ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ 3ImEBZ S ~
ZhLS ~ ZnLst ~ ZhLs ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ 3mEBZ D ~
Zh s ~ ZhList ~ Zh LS ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh s ~ ZhnLst ~ Zh LS ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBRAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
Zhs ~ ZhLst ~ Zh LS ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBRAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
ZzhLst ~ s ~ ZzhLst ~ s ~
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